Okay I am going to try the warm-up problem.  I am going to add 8 and 3, get 1, carry the one.  Then I have 7, 5 and 1, which is 13, carry the one. The next column is a 7 and a 4 and a 1, which is 12.  So my answer is 1231. Problem 2 is multiply 67 times 15. Going to multiply the 7 and the 5, 35 carry the 3, 6 times 5, 30 plus the 3, is 33.  And then 1 times 7 is 7.  1 times 6 is 6.  And I add these down, I get 7 and 3 is 10.  I get 1005.  So that’s the warm-up problem.
And now I’m going to move on to the main task.  I have three, the paper reviewing diagrams.  So I think the first thing I’m going to do is just look for commonality between the three.  So I know three there is a number of different, appears to be entities.  So I’ll just go through the simplest one.  And in conference, I’ll have to start with conference one, look for the same entities in the other two.  Okay, so I see a session entity in conference one.  So if I go to conference two, don’t see session.  Conference three, looking here, see conference, two fee session paper.  I see paper in the first two and I see some more items in the conference three.  So, I see paper in the first two.  And the third one I have paper location and paper type.  Oh, I do see a paper.  So I do have three papers.  Okay, so that would be one entity that I would probably like to keep.  Moving along, paper review entity, I see it in the first two.  I see it in three.  So paper review would be another entity I would like to keep.  The next entity I see is review.  I see it in the first two.  Well, let’s see, yeah, paper review and review are the same entity.  So I see paper review in the first one, review in the second, which is assumed to be the same, and then paper review in the third.  So I guess the part where I was getting confused is the second one.  It says review, but really it’s the same thing as paper review.  Well, the first one does have review entity.  So I’ll have to come back to that and figure out what’s different from the first one.
Then I have a reviewer entity in the first one and in the last one.  And the second one has assign review.  So I’ll assume that could be similar.  I’ll come back to that.  And looks like in the first one I have a discussion entity as the last entity there.  Don’t see anything in the second diagram.  The third diagram I see award recommendation.  So might be similar, but probably different.  I see it’s discussed, so I’ll come back to that.

So I’ve identified a couple things that look common.  I’m sure there’ll be more across the three.  So I think what I’m going to do next is just try to understand the diagram starting with conference one.  Starting with the paper entity, I see there’s a one, look’s like a one to many relationship with session and paper review as well.  A one to many there, one to many with discussion, one to many to review, and that looks like it.
So looking at the key elements of paper, the paper entity, key data is paper id.  So for a paper to be submitted, looks like you have to have a paper id, title, author, session, status, evaluation.  I’m going to look at the second one, see what the key data is there.  It says review id, oops, paper id, title, author, session, evaluation.  So that appears to be the same.  Moving along to the third one.  I’m looking for the paper entity.  Okay, yeah I have many more elements there that appears the paper id is the same, appears to be the same primary key.  There’s a lot of other elements, but it has title, keywords, and there’s just a list of other ones.  So I know that my end result, if I can have paper, and I’ll just use the entity’s, entity paper from the third one, the more complex conference three one.  And I think that’ll satisfy the other two as well.

Next, I’m going to look at review.  Looking at the primary key, there’s a list of other elements there as well.  For the second diagram, doesn’t seem to have as much data there.  For assigned review, for conference two, key data is member id, paper id, which, okay so that ties in there.  I think I’ll have to figure out what member id is.  Here’s the second one, must be committee member.  So that entity is a little bit different.
Okay, try to get a feel for what this conference three diagram has.  To just kind of decide, there’s several entities here I don’t know what to do with.  So looking at the author entity, there’s just the only key data, primary key is author id.  And there is a many to many relationship with track chair entity, with track chair id as the only other key data.  So I’m not sure what those two entities do.  But I’ll go ahead and keep those in the new diagram so I’ll have them on the new.  On the same kind of concept, I’m going to do this, there’s an audio-visual entity in conference three as well, with key data navy id.  And it has a relationship with role name.  So there’s a role name entity.  And it looks like there’s two roles, either your audio-visual or discussion.  So I’ll leave those three entities alone as well.  Also, there’s a conference entity and I don’t see it in the other two.  It just kind of had conference information, conference year, review, start and end dates, and then there’s a relationship with a-v request.  It just may be request id as the primary key there.  So I’ll leave those two there as well.  And from there there’s also a tie-in to paper.  So paper has a one to many with conference.  And so I think I can go ahead and make a decision on the paper entity as well.  So if I keep the conference three paper entity, I’ll keep the relationship with the conference entity.  And then that leaves the a-v request entity there as well.  And I’ll add from the conference one, I’ll add session.  I’ll add a session entity and have that as a paper.  We’ll have a one to many in the session as well.  So I’ll have conference and session entities.  I’ll keep that one.  So that takes care of those two, off the first one.

Moving on, there’s also a paper type entity on conference three that I’ll leave as well.  Going from there, there’s a conference track entity.  And I’ll leave that one as well.  I don’t see it in the other two, but ‘cause I don’t have enough information to know whether I can keep those or not, I’ll keep it.  And paper type has a relationship, many to many with recommendation type.  So looking at the other two, I don’t really see a recommendation type.  Conference three is recommendation type has a type id as primary key and that, it has a well, criteria type as another entity that is on conference three.  I’m not sure what to do with that one.  I’ll have to revisit that.  That brings me, but that criteria type has a one to many relationship with review criteria.  And I do see on conference one there is a review entity that kind of has the same types of non-key data.  I’ll go ahead and combine all those.  Keep all the non-key data from one and three and create a, call it review criteria and make that into the solution as well.  So that’s there.  I think I mentioned before, I have a reviewer entity, and I’ll just combine all those from the first two and the last one as well.  So it appears that I still have a, a review.  We can come back and revisit the, well I’m looking at the paper review, which is kind of a total on conference one, which is something that we’ll want to keep in mind.  We’ll need that.  For a second it matches up on the paper review on the third one.  So I’ll go ahead and keep that as kind of like a total.  Yeah, I’ll go ahead and leave that as kind of a total.  So that’ll be in the solution for paper review.  Didn’t see that in the second one.  It’s kind of like a total of the other two.  So that’s in there as well.  I don’t see this, but on the first one there’s a discussion entity and looks like there’s some comments that you could make.  And maybe that’s useful for deciding what you’d want to do.  So I’ll keep that in the first one and add it into the solution and have a one to many from the paper.  So, so there’ll be, and reviewer, so those two, so that’ll be another entity just in the solution just like paper review would have, so put that there, looks like for conference one I’ve got everything covered.  Looks like conference two is, I’ve got everything in there that I need.  There’s an admin user as well and it has no relationships.  And so it appears that I have the role name entity in the solution as audio-visual.  Could probably combine that and add another role, admin user.  So that’ll be in the solution.  I believe that takes care of conference two.  So, so what have I got left here?  I think for the solution I don’t have enough information to decide.  But I did combine a couple of things.  So I’ll leave the rest of conference three the same.  So my solution would be to leave conference three the way it is.  Plus I would add a different role, admin user from conference two.  That would come off the role name entity, have a one to many like the other two.  So that would be there.  I think that’s it for two that I’ve got a combination with.  I also added a discussion entity from one that would come from the paper.  And so it would be a one to many from paper to this discussion.  So we keep that as well and tie it into the reviewer entity as well.  So that was added to the solution.  And I also added the session entity from the first, from the very first conference one diagram.  And I added that as an entity just like conference.  And it would have a one to many, from paper to this session entity in the solution as well.  So it looks like those are the combinations I had.  I also have a person and paper locator entities in solution three that I didn’t touch as well.  So those are the changes I made.  And so my solution is going to resemble conference three with a couple additions in one merged entity.  And that’s it.

